ENGINEE	R'S ESTIMATE	OPENING DATE		7	ĺ			ĺ			ĺ		Ĩ
\$250,000.00		TUESDAY, JANUARY 10, 2017 @ 2:00 P.M.		†									
		ONTRACT NUMBER AND TITLE]									
		REPLACEMENT PART KITS, GRINDER CUTTE											
FACILITIES		NITS TO VARIOUS CMCMUA WASTEWATER TR	REATMENT			EQUIPMENT CO.			ONMENTAL,				
	,			FRANKLIN N	· · · · · · · · · · · · · · · · · · ·			LLC		,			
ITEM		DESCRIPTION	QUANTITY	UNIT PRICE	EXT. PRICE	UNIT PRICE	EXT. PRICE	UNIT PRICE	EXT. PRICE	UNIT PRICE	EXT. PRICE	UNIT PRICE	EXT. PRICE
		R CUTTER REPLACEMENT PART KITS											
	WW-02-A.1-17		_										
1	FRANKLIN MILLER	R TASKMASTER #14032, RPK AS SPECIFIED	6	16,951.00	101,706.00								
2	FRANKLIN MILLEF	R DIMUNITOR #DM-25, RPK AS SPECIFIED	3	11,984.00	35,952.00								
					·								
	TOTAL	L AMOUNT BID FOR WW-02-A.1-17			137,658.00		NO BID		NO BID				
	WW-02-A.2-17												
1	JWC MUFFIN MON	NSTER #30001-1208, RPK AS SPECIFIED	4					7,195.17	28,780.68				
	1040 141155011401	NOTED WASSALL A DRIVE AS OREGITED						5 500 44	44.404.00				
2	JWC MUFFIN MOR	NSTER #30001-8-4, RPK AS SPECIFIED	2	1				5,562.11	11,124.22				
3	JWC MUFFIN MON	NSTER #30001-12-6, RPK AS SPECIFIED	2					6,361.49	12,722.98				
		,						,	•				
4	JWC MUFFIN MON	NSTER # 30001-0804, RPK AS SPECIFIED	2					6,046.57	12,093.14	MATH ERROR			
5		NSTER #30004-12, RPK AS SPECIFIED	3					6,689.29	20,067.87				
6		ONSTER # CMD4010-AD, RPK AS SPECIFIED	2										
	+	QUANTITY ON LINE 6	1	ļļ				15,911.30	15,911.30				
	JWC WROTE IN: 0		1	ļļ				17,542.70	17,542.70				
7	JWC CHANNEL M	ONSTER # CMD3210-AD, RPK AS SPECIFIED	2					13,948.05	27,896.10				
	TOTAL	L AMOUNT BID FOR WW-02-A.2-17		+ +	NO BID		NO BID		146,138.99				
	IOTAL	L, MICONI BID I ON IIII VE ALE II		+ +	ונס טוט		110 010		140,100.33				

ENCINEE	R'S ESTIMATE OPENING DATE		7	i			I	i		i		1
\$250,000.0			4									
\$250,000.00	10E3DAT, JANOART 10, 2017 @ 2.00 F.W.											
	CONTRACT NUMBER AND TITLE											
WW-02-17	GRINDER CUTTER REPLACEMENT PART KITS, GRINDER CUTTE	R EXCHANGE										
UNITS AND	NEW GRINDER UNITS TO VARIOUS CMCMUA WASTEWATER T	REATMENT			GEIGER F	PUMP AND	JWC ENVIR	ONMENTAL.				
FACILITIES	3		FRANKLIN MILLER, INC.				LLC					
ITEM	DESCRIPTION	QUANTITY	UNIT PRICE	•		EXT. PRICE	UNIT PRICE	EXT. PRICE	UNIT PRICE	EXT. PRICE	UNIT PRICE	EXT. PRICE
	WW-02-A.3-17											
1	MOYNO MAZORATOR #8VDA, RPK AS SPECIFIED	1										
2	MOYNO ANNIHILATOR #M0847CE11C11C, RPK AS SPECIFIED	2										
3	MOYNO ANNIHILATOR #M06F4, RPK AS SPECIFIED	3										
	TOTAL AMOUNT BID FOR WW-02-A.3-17			NO BID		NO BID		NO BID				
	DIDDEDIO QUEQUI IOT				NO REPAIR	KITS AVAILABLE		v				
	BIDDER'S CHECHLIST			X		X		X				
	STOCKHOLDER DISCLOSURE CERTIFICATION			X X		X X		X X				
	NON-COLLUSION AFFIDAVIT DISCLOSURE OF INVESTMENT ACTIVITIES IN IRAN			X		X		X				
	BIDDER'S EXPERIENCE			X		X		X				
	MANUFACTURER'S CUT SHEET			X		X		X				
	MANDATORY AFFIRMATIVE ACTION			X		x		X				
	N.J. BUSINESS REGISTRATION CERTIFICATE			X		x		X				
	IRS FORM W-9			X		X		X				
	PROPOSAL FORM(S)			X		X		X				
	ADDENDA ACKNOWLEDGMENT			X		X		X				
							1					
							PART A: WW-02	2-A.2-17 - MATH E	RROR ON LINE			
							· ·	DED PRICE SAYS				
							SHOULD BE \$12,093.14. LINE #6: CHANGED QUANTITY TO ONE (1) AND ADDED ANOTHER LINE ITEM WITH QUANTITY OF ONE (1), TOTAL					
								IN NUMBERS AN			İ	
							1	CORRECT.			İ	
							1		ļ			

ENGINEE	R'S ESTIMATE : OPENING DATE:						1					
\$500,000.00	\$500,000.00 TUESDAY, JANUARY 10, 2017 @ 2:00 P.M.											
	CONTRACT NUMBER AND TITLE											
WW-02-17 (GRINDER CUTTER REPLACEMENT PART KITS, GRINDER CUTT	ER										
	E UNITS AND NEW GRINDER UNITS TO VARIOUS CMCMUA WA				GFIGER	PUMP AND	JWC FNVIR	ONMENTAL.				
TREATMEN	NT FACILITIES		FRANI KIN I	FRANLKIN MILLER, INC.				LLC				
ITEM	DESCRIPTION	_		EXT.PRICE				EXT.PRICE	UNIT PRICE	EXT.PRICE	UNIT PRICE	EXT.PRICE
	PART B: GRINDER CUTTER EXCHANGE UNITS											
	WW-02-B.1-17											
1	FRANKLIN MILLER TASKMASTER #14032, AS SPECIFIED	6	21,950.00	131,700.00								
	MANUFACTURER & MODEL # BID											
2	FRANKLIN MILLER DIMUNITOR #DM-25, AS SPECIFIED	3	40,650.00	121,950.00								
	MANUFACTURER & MODEL # BID			•								
	TOTAL AMOUNT BID FOR WW-02-B.1-17			253,650.00		NO BID		NO BID				
				·								
	WW-02-B.2-17											
1	JWC MUFFIN MONSTER #30001-1208, AS SPECIFIED	4	13,250.00	53,000.00			7,195.17	28,780.68				
	MANUFACTURER & MODEL # BID		FRANKLIN MILL	ER TM51208			MUFFIN MONS	TER 30001-1208				
2	JWC MUFFIN MONSTER #30001-8-4, AS SPECIFIED	2	12,650.00	25,300.00			5,562.11	11,124.22				
	MANUFACTURER & MODEL # BID		FRANKLIN MILL	ER TM851204		ML		MUFFIN MONSTER 30001-0804				
3	JWC MUFFIN MONSTER #30001-12-6, AS SPECIFIED	2	13,250.00	26,500.00			6,361.49	12,722.98				
	MANUFACTURER & MODEL # BID		FRANKLIN MILL	TM851206			MUFFIN MONS	TER 30001-1206				
4	JWC MUFFIN MONSTER # 30001-0804, AS SPECIFIED	2	12,650.00	25,300.00			6,046.57	12,093.14	MATH ERROR			
	MANUFACTURER & MODEL # BID		FRANKLIN MILL	ER TM851204			MUFFIN MONSTER 30001-0804					
5	JWC MUFFIN MONSTER #30004-12, AS SPECIFIED	3	8,900.00	26,700.00			6,689.29	20,067.87				
	MANUFACTURER & MODEL # BID		FRANKLIN MILL	ER TM8512			MUFFIN MONS	TER 30004-1204				
6	JWC CHANNEL MONSTER # CMD4010-AD, AS SPECIFIED	2	24,650.00	49,300.00								
	JWC CHANGED QUANTITY ON LINE 6	1					15,911.30	,				
	MANUFACTURER & MODEL # BID		FRANKLIN MILL	ER TM14040			CHANNEL MON	ISTER SINGLE D	RUM CMD4010-A	D		
	JWC WROTE IN: CDD4010-XDS 2.0	1					17,542.70					
	MANUFACTURER & MODEL # BID			·			CHANNEL MON	ISTER DOUBLE I	ORUM CDD4010->	(DS 2.0		
7	JWC CHANNEL MONSTER # CMD3210-AD, AS SPECIFIED	2	21,950.00	43,900.00			13,948.05	27,896.10				
	MANUFACTURER & MODEL # BID		FRANKLIN MILL	ER TM14032			CHANNEL MON	ISTER SINGLE D	RUM CMD3210-A	D		
	TOTAL AMOUNT BID FOR WW-02-B.2-17			250,000.00		NO BID		146,138.99				

ENGINEER	R'S ESTIMATE: OPENING DATE:]									
\$500,000.00												
	CONTRACT NUMBER AND TITLE											
	RINDER CUTTER REPLACEMENT PART KITS, GRINDER CUTT		1									
	UNITS AND NEW GRINDER UNITS TO VARIOUS CMCMUA WA	STEWATER			GEIGER PUMP AND		JWC ENVIR	ONMENTAL,				
IREAIMEN	T FACILITIES			MILLER, INC.		IENT CO.		LC				
ITEM	DESCRIPTION	QUANTITY	UNIT PRICE	EXT.PRICE	UNIT PRICE	EXT.PRICE	UNIT PRICE	EXT.PRICE	UNIT PRICE	EXT.PRICE	UNIT PRICE	EXT.PRICE
	WW-02-B.3-17											
1	MOYNO MAZORATOR #8VDA, AS SPECIFIED	1	NO BID	NO BID		NO BID						
	MANUFACTURER & MODEL # BID				OBS	OLETE						
2	MOYNO ANNIHILATOR #M0847CE11C11C, AS SPECIFIED	2	8,250.00	16,500.00								
	MANUFACTURER & MODEL # BID		FRANKLIN M	ILLER TM8508	M08F4CE11C11	C/PN4019000178						
3	MOYNO ANNIHILATOR #M06F4, AS SPECIFIED	3	NO BID	NO BID	8,500.00	-,						
	MANUFACTURER & MODEL # BID				M06F4/PN	4019000178						
	TOTAL AMOUNT BID FOR WW-02-B.3-17			16,500.00		42,500.00		NO BID				
	BIDDER'S CHECHLIST			Х		Х		Х				
	STOCKHOLDER DISCLOSURE CERTIFICATION			Х		X		X				
	NON-COLLUSION AFFIDAVIT			Х		X		X				
	DISCLOSURE OF INVESTMENT ACTIVITIES IN IRAN			Х		Х		Х				
	BIDDER'S EXPERIENCE			Х		Х		Х				
	MANUFACTURER'S CUT SHEET			X		X		Х				
	MANDATORY AFFIRMATIVE ACTION			Х		X		X				
	N.J. BUSINESS REGISTRATION CERTIFICATE			Х		X		X				
	IRS FORM W-9			X		X		Х				
	PROPOSAL FORM(S)			X		X		Х				
	ADDENDA ACKNOWLEDGMENT			X		X		Х				
								V-02-B.2-17 - MAT				
							LINE #4, EXTENDED PRICE SAYS \$12,033.14, SHOULD BE \$12,093.14. LINE #6: CHANGED QUANTITY TO ONE (1) AND ADDED ANOTHER LINE ITEM WITH QUANTITY OF ONE (1), TOTAL AMOUNT BID IN NUMBERS AND WORDS ARE					
									` '			
								CORRECT.				

ENGINEE	R'S ESTIMATE : OPENING DATE:		1				ĺ		Ī			I
\$60,000.00	TUESDAY, JANUARY 10, 2017 @ 2:00 P.M.											
	CONTRACT NUMBER AND TITLE											
WW-02-17 (GRINDER CUTTER REPLACEMENT PART KITS, GRINDER CUTT	ER										
EXCHANGE	E UNITS AND NEW GRINDER UNITS TO VARIOUS CMCMUA WA	STEWATER				GEIGER PUMP AND		ONMENTAL,				
TREATMEN	IT FACILITIES		FRANKLIN I	MILLER, INC.			LLC					
ITEM	DESCRIPTION	QUANTITY	UNIT PRICE	EXT.PRICE	UNIT PRICE	EXT.PRICE	UNIT PRICE	EXT.PRICE	UNIT PRICE	EXT.PRICE	UNIT PRICE	EXT.PRICE
	PART C: FURNISH AND DELIVER NEW GRINDERS											
	WW-02-C.1-17											
1	JWC MUFFIN MONSTER #30000-1204, OR FRANKLIN MILLER	1	15,815.00	15,815.00			14,198.00	14,198.00				
	TASKMASTER #TM8512-04, OR EQUIVALENT											
	MANUFACTURER & MODEL # BID						MUFFIN MONS	TER 30004-1204				
2	JWC CHANNEL MONSTER #CMD-24-10-XDS, OR FRANKLIN	1	29,750.00	29,750.00			38,074.00	38,074.00				
	MILLER TASKMASRE TITAN #14032, OR EQUIVALENT											
	MANUFACTURER & MODEL # BID						CHANNEL MON	NSTER SINGLE D	RUM CMD2410-X	DS		
	TOTAL AMOUNT BID FOR WW-02-C.1-17			45,565.00		NO BID		52,272.00				
	BIDDER'S CHECHLIST			Х		Х		Х				
	STOCKHOLDER DISCLOSURE CERTIFICATION			Х		Х		Х				
	NON-COLLUSION AFFIDAVIT			Х		Х		Х				
	DISCLOSURE OF INVESTMENT ACTIVITIES IN IRAN			Х		Х		Х				
	BIDDER'S EXPERIENCE			Х		Х		Х				
	MANUFACTURER'S CUT SHEET			Х		Х		Х				
	MANDATORY AFFIRMATIVE ACTION			Х		Х		Х				
	N.J. BUSINESS REGISTRATION CERTIFICATE			Х		Х		Х				
	IRS FORM W-9			Х		Х		Х				
	PROPOSAL FORM(S)			Х		Х		Х				
	ADDENDA ACKNOWLEDGMENT			Х		Х		Х				
——	1	1									l	